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• g2CTmr>06ID3ci8 nq)\Jl6(0)6cm@1m~ (2}6(llj~ (]!l..l0B16ID3ci8 ®®On.Jl©<Jdo ruom5lc06>6mo. 

• nq)~O (]!l..l0B16ID3ci8c06>6o g2CTmr>0o nq)\Jl6(0)6ll)o. 

• 6306 (]!l..l0B1ffiCTlJ© g2CTmr>06)fZIW6®0® 6)(0)06)6llmY>S6CTmr>6 cfuW16llmY>Om8 g2n.J(]!l..l0B16ID3~6o 
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• c0,6ll)c06)~ c0, l§ 8..16cfuci8' !l..l1 (.@6ID3ci8' (_(f) On..06 c:0,cm' n© cm1 OJ g2CTmr>0 (]n.J7,:J01 m8 (0)6) cm 
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g)28..lcfu~(](.S06m1cfu~ g2n.Jcfu06mOJ6o n.J01cM::IOo..00~1m8 g2n.J(](D)0(1)1c06>60JO® n.JOS1~. 
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1. (a) From the following choose the incorrect statement about crystalline solids. 

(i) Melt at sharp temperature. 

(ii) They have definite heat of fusion. 

(iii) They are isotropic. 

(iv) They have long range order. 

(b) Cubic unit cells are divided into primitive, bee and fee. 

(Score: 1) 

(i) Calculate the number of atoms in a unit cell of each of the following : 

* bee 

* fee 

(ii) Write two examples for covalent solids. 

(Scores : 2) 

(Score: 1) 

2. (a) The mole fraction of water in a mixture containing equal number of moles of 

water and ethanol is 

(i) I 

(ii) 0.5 

(iii) 2 

(iv) 0.25 (Score: 1) 

(b) The following are the vapour pressure curves of a pure solvent and a solution of a 

non-volatile solute in it. 

I attn ---------

V.P. 

A 

Tb O ~ !-. Tb ----+ Tb 
Based on the above curves answer the following questions : 

(i) What do the curves A and B indicate? 

(ii) Explain why the value of Tb is greater than that of Tb 0. 

(Score: 1) 

(Scores : 2) 

3. (a) Identify the weak electrolyte from the following: 

(i) KC/ 

(ii) NaCl 

(iii) KBr 

(iv) CH3COOH (Score: 1) 
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1. (a) n.J0m8 0ln.JCTmr>18..16~ 6lJ0 n.JBOffi(0)_()6IDJ6)~ (crystalline solids) c:0,601~~ @06)\!l 

n.JO m>6 cm (.n.J OJ?O(lJ m c:0,~1 m8 6) @t;pm>@~ 6) (0)06) 6llmY>S 6c006 c0, : 

(i) c0,~@10om> g2'D~ oru1 m8 g206c0,6cm6. 

(ii) m1oru~~ m1@_fl@0om> g206c0,m8 @on.J066l1s~ 

(iii) mlo(lJ 6)nq)(](n)0(](.S07,:j1cOOOm>101c006o. 

(iv) CTm)(lJ~~(]8.J0o(f)~(]06TID...r63o©(U)ffi g26l1s~ (acwom: 1) 

(b) c0,1l6llJ1c0,~ m>l6ln1g~ 6)CTU~6c0,6)~ (.n.J101g1ru~ 6llJ1cru1cru1, nq)n..O~cru1cru1 nq)cm16ID36)ffi 

(0)0o @101~101c006cm6. 

(i) (0)06)\!l 6)c0,0S6CTmr>101c006cm 630(]00cm16)8.J(D)6o 6306 CD>l6ln1g~ 6)CTU~1m8 mloS6ID31-

m5101c006cm ®0g6ID3~66)S nq)~o c0,6l1s6n.J1S1c006c0, : 

* 6llJ1 cru1 cru1 

* nq)n..O~cru1cru1 (acwommr: 2) 

(ii) (]c0,0(lJ08..lqf 6lJ0 n.JBOffi(0)_()6IDJci8cOO~ 06l1s~ g2B00..006ln6)(2}\Jl6(0)6c0,· (acwom : 1) 

2. (a) m8.Jru6o nq)L.Oa;mo~6o @6~1 a;00~6c0,~1m8 ®oS6ITT31m5101c006cm 8.Jom>m1m>16)8.J 

m8.JCTmr>16)1 (]r2lOci8(.n..OOc0,~® ®Q)6ln~ 

3. 
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(i) I (ii) 0.5 
(iii) 2 (iv) 0.25 (acwom: 1) 

(b) (0)06)\!l 6)c0,0S6CTmr>101c006cm(O)~ 6306 (R)6W 8.JO(D)c0,CTmr)16)1m>6o, CTm)(](O) 8.JO(D)c0,CTmr)1m8 

@6)cm 6llJO~(R)°l8.Jr2l1~oCTmr> 6306 81lm0s6ID31m> 8.Jom>m1m>66)sm>6o a;ru7,:J<n 6)(.n.JITl:1© 

c:0,(n(lj 6c0,~ 06ll)~ 

(a) 

T ~ Tb0 ~ .0.Tb --4- lb 
(2}6c0,~1m8 6)c0,0S6CTmr>101c006cm c0,(n(lJ6c0,6)~ ®0o;BBr2lOc001 (0)06)\!l n.JOm>6cm (]!l...!0B1-

6ID3 ci8c00 ~ 22 CTmY) 06) (2}\Jl 6 (0) 6 c0, : 

(i) c0,roru6c0,cm A, B nq)cm1ru nq)m5)16)mm>o6ln~ crui!l...!17,:J1c006cm@~ ? (acwom: 1) 

(ii) Tb-m>66)s r2ll8..11o Tb O -a;m>c00oci8 c0, is 6@ 8..1om5101 c006 cm6) @6) cm) cm~ 

(acwommr: 2) ru1 CR) Bl c:0,01c006 c0,. 

@06)W 6)c0,0s6CTmr>101c006cmrum>1m8 

nfil6)@cm~ c0,6l1s6n.J1s1c006c0, : 

(i) KC/ 
(iii) KBr 

(ii) NaCl 
(iv) CH3COOH 

3 
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(b) Kohlrausch' s law helps to determine the degree of dissociation of a weak 

electrolyte at a given concentration. 

(i) State Kohlrausch's law. (Score: 1) 

(ii) The molar conductivity /\m of .00lM acetic acid is 4.95 x 10-5 S cm2 mol-1. 

Calculate the degree of dissociation (a) at this concentration if limiting 

molar conductivity/\; for H+ is 340 x 10-5 S cm2 mol-1 and for CH3Coo-

is 50.5 x 10-5 S cm2 mol-1. (Scores : 2) 

4. The effect of temperature on rate ofreaction is given by Arrhenius equation. 

(i) Write Arrhenius equation. (Score: 1) 

(Score: 1) (ii) Define activation energy (Ea). 

(iii) Rate constant K2 of a reaction at 310 K is two times of its rate constant K1 at 

300 K. Calculate activation energy of the reaction. 

(log 2 = 0.3010, log 1 = 0) (Scores : 2) 

5. (a) Which among the following is not an electrical property of colloids? 
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(i) Electrophoresis 

(ii) Electro osmosis 

(iii) Coagulation 

(iv) Tyndal effect 

(b) Freundlich adsorption isotherm is 

x/m = k p11n where n > 1 

Answer the following questions based on Freundlich adsorption isotherm : 

(i) What is adsorption isotherm? 

(ii) Explain the terms in the above equation. 

4 
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(Score: 1) 
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(b) (]cfuOciBO O<rl:1 en/ ml CD) rllo 630 6 ml CJID ... fl@ (f) OCU9@m51 8..16~ CR) c0®1cfu606llM) 2)28..I cfu~(](.S o-

6)6) 8.J g16) 1 cw1(.(f)1 630n..O~ cw1a;cruocru1a;m><r1:1o8 cfu6l1s6n.J1s1c00oo8 cruo..0om>lc006cm6. 

(acwom: 1) 

(ii) m1ocrug1cfu~ ®Q)CTU1CW16)1 .00lM 8..10m>m1m>66)S (]fZIO~oro cfu6l1s,t1ru1g1 (Am) 

4.95 x 10-5 S cm2 mol-1 ffi106ll)~ H+ m1oa;m>o6ll)16)1 8..11rll1g1o(f)~ (]fZIO~oro 

cfu6l1s,t1ru1g1 (A;) 340 X 10-5 s cm2 mo1-1 g2o CH3Coo- (Glo(](D)06ll)16)1 

50.5 x 10-5 S cm2 mol-1 g2o CB1Q)m>Om8 m1ocrug1cfu~ ®Q)CTU1CW16)1 2)2'!> 

(f)OCU9@m>16)8.J cw1(.(f)1 630n..O~ cw1a;cruocru1a;m><r1:1 o8 ( a) cfu6l1s6n.J1s1c006cfu. 

4. m1ooim1m>cru~ crui(.@ruocfu10 6306 0ocru(.n.Jru<nCTmr>mCTmr>16)1 a;ru(J)@m5Jm8 g2'!>o%jOru16)1 

CTUJOW°lmo ru1(R)BfZIOc006cm6. 
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(i) m1odl ml m>cru~ cru 0ru o cfu 10 nq)W6 @6 cfu. 

(ii) ®0cfu'gla;ru<r1:1o8 nq)mro@il (Ea) m1ro9:1!}_flc006cfu. 

(acwom: 1) 

(acwom: 1) 

(iii) 6306 00CTU(.n.Jru<nCTmr>mCTmr>16)13 l 0 K 6)8..1 a;og~ (]cfu06m~~K2 ®o@16)1300 K 6)8..1 

a;og~ (]cfu06m~~ K1 6)1 g)20§1m>06)6ll)ffi>1m8 2)2'!> 00CTU(.n.Jru<nCTmr>mCTmr>16)1 

®0,tla;ru<r1:1o8 nq)m<n@il cfu6l1s6n.J1s1c006cfu. (log 2 = 0.3010, log 1 = 0) (acwommr: 2) 

(i) 2)2 8..1 cfu~(](.S oa;n..0 oo cru1 cru~ 

(ii) 2)28..lcfu~(](.SO 63oa;Cl'hlocru1cru~ 

(iii) 6) cfuO CD> 0 (f) 6 (] 8..1 o9:1 o8 

(iv) s11am g12n..0,t~ (acwom: 1) 

(b) (.n..01l6l1s8.Jl~,(m1ocw~a;cruoron.J~o8 6)nq)(](n)0(](0')(2}06ll)~ x/m = kp 11n, n > 1. 

(.n..O 1l6l1s 8.Jl~ ~ m1ocw~a;cruoron.J~ o8 6) nq)(]CTU oa;@ rll16) m m1os1 rru.o om fZI oc001 @06)W 

6) cfu0S6 CTmr>101 c006 cm (]!2..10 B 16ID3ci8 cOO~ g2CTmr>06) fZIW6 (0')6 cfu. 

5 

(acwom: 1) 
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6. (a) Which of the following is not an Ore of Iron ? 

(i) Haematite 

(ii) Magnetite 

(iii) Malachite 

(iv) Siderite (Score: 1) 

(b) Explain froth floatation process for the concentration of Ore. (Scores : 2) 

7. (a) Identify the most acidic compound from the following: 

(i) H2O 

(ii) H2S 

(iii) H2Se 

(iv) H2Te (Score: 1) 

I 
Step P Step Q 

(b) S02 S03 H2S04 

(i) Explain the step P and Q. (Scores : 2) 

(ii) Give a reaction which indicates dehydration property of cone. H2SO4. (Score: 1) 

(iii) Write any two uses of sulphuric acid. (Score: 1) 

OR 

(a) Identify the least basic compound among the following : 

(i) NH3 

(ii) PH3 

(iii) AsH3 

(iv) SbH3 (Score: 1) 

(b) (i) Halogens have maximum negative electron gain enthalpy in the respective 

periods. Give reason. (Scores : 2) 

(ii) Draw the structure of Perchloric acid (HC/O4) (Score: 1) 

(iii) Write the formulae of any two interhalogen compounds. (Score: 1) 
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(i) 6)ru)(2}6)6)gg~ 

(iii) (2}08.J6)6)cB6)g~ 

(ii) (2}0(JD6)6)gg~ 

(iv) cru1CW6)6)0g~ (acwom: 1) 

7. (a) (0) 06)\!l 6) cfu0S6 CTmr>101 cB6>6 cm CTUom>6c0fID6ID3~1 m8 n43gru 60 cfu l56 (0) m8 mlo ~ (1)6 6m r2l6~ (O)~ 

6) (0) 0 6) 6llM) s 6 cB6) 6 c0, : 
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(i) H20 

(iii) H2Se 

(ii) H2S 

(iv) H2 Te 

Step P Step Q I 
(b) I so2 -I ---1...__s_o_J _;---: H2S04 

cB6>6 cm 630 6 00CTU(.n.J(lJ © CTmr>ffio n4)W6 (0)6 cfu. 

(iii) cruci8nLl1l01cfu~ ®Q)CTU1CW16)106lls~ g2n.J(](D)0(1)6ID3ci8 n4)\Jl6(0)6cfu. 

ffi06)~ ffi>l ro8 

(acwom: 1) 

(acwom: 1) 

(a) (0)06)\!l 6)cfu0S6CTmr>101cB6>6cm CTUom>6c0fID6ID3~1m8 m1cm6o n43gru60 cfu60(lJ~ cfu9100(1)66ll)-

(i) NH3 

(iii) AsH3 

(ii) PH3 

(iv) SbH3 

(b) (i) nD06)8.J06)mm6c0,ci8cB6>06m~ ®o@@~ n.J10icw6c0,~16)8.J n43gru60 c:0,islm> 6)ffi(f)g°lru~ 

g)28..lcfu~(](.S06m 6)(f)CD>~® n4)®LOOm8n.J1 g2~(0)~ cfu006m6)f2l\Jl6(0)6cfu. (acwommr: 2) 

(ii) 6)n.J<na;~oo1cB6>ocru1cw16)1 (HC/04) o.eism ru0~6c0,. (acwom: 1) 

(iii) 06lls~ 2121© ru106)8.J06)m® CTUom>6c0fID6ID3~66)S (]nLl0©r2l68.Jcfuci8 n4)\Jl6(0)6cfu. 

(acwom: 1) 

7 P.T.O. 



8. (a) Zr and Hf are having similar chemical properties. This is due to ____ _ 

9. 

(Score: 1) 

(b) 'Magnetic moments arise due to the presence of unpaired electrons'. 

Calculated magnetic moments of two transition metal ions are given below. 

Ion Calculated 

Magnetic moment 

Sc3+ 0 

Ti3+ 1.73 

Justify these observations on the basis of spin only formula. 

(c) Transition metal ions are generally coloured. Why? 

(Scores : 2) 

(Score: 1) 

(a) 

(b) 

In which of the following, the central atom/ion is in zero oxidation state. 

(i) [Ni(CN)4]2-

(ii) [NiC/
4]2-

(iii) [Ni(CO)4] 

(iv) [Ni(NH3) 6]2+ (Score: 1) 

[Ni(CN)4]2-has square planar structure and it is diamagnetic. 

(i) On the basis of valence bond theory explain why [Ni(CN)4J
2- exhibit these 

properties. 

(ii) Identify the ligand in the above mentioned complex. 

(Scores : 2) 

(Score: 1) 

10. On kinetic consideration nucleophilic substitution in aryl/alkyl halides may be SN1 or 

SN2 mechanisms. 

(a) Briefly explain SN2 mechanism with an example. (Scores : 2) 

(b) In dehydrohalogenation of 2-Bromopentane why Pent-2-ene is major product and 

Pent-1-ene is minor product. (Scores : 2) 
7016 8 



8. (a) Zr-CTmr>1m6o Hf-CTmr>1m6o 63a>6a;n.J06)8.Jm>6~ roocru CTUJ@Oru6ID3~o6m6~@~ 2)2@16)1 

cfu006mfll06ll)~____ ( acwom : 1) 

(b) 'm1o.;m a;n.J a;cruro(U)~ 2)28..I cfu~(](.S06m6cfu~66)s cruocm1 ® 10 rlll8..I fZI06m~ fZIO(f)~mg1 cfu~ 

6)fZIOrll1~ g26l1socfu6cm@~' 

06l1s~ CTUo(.cfurll6m (]8..100..0 ffilo(]CD>06m2cfu~26)S m1ro~m5Jc06>6)7d3 fll0(f)~ffig1cfu~ 6)fll0rll12-

cfuc.fB (0)06)\!l 6)cfu0S6c06>6cm6 : 

Ion Calculated magnetic moment 

Sc3+ 0 

Ti3+ 1.73 

2)2'!> m1a>°lcEM16m6ID36)~ o;B1® 6306m8..11 (]n..00©rll28.JCD>26)S CTUn.OOCD>CTmr>Om8 

CTU0Wlcfu01c06>2cfu. (acwommr: 2) 

( c) CTUo(.cfurll6m (]8.J 00..0 mlo a; CD>06m6 cfuc.iBc06>~ cruo W006mm>O m5l ml O rll66l1s ~ nij) cm) 66) cfu06l1s~? 

(acwom: 1) 

9. (a) @06)\!l 6)cfuOS6CTmr>1a>1c06>6cmrum5lm8 6)CTU®(.Sm8 ®0go/m1oa;cruo.;m-m~ ruim10 

630~cfua>6morurru.o 22~@~ n43@1mo6m~? 

(i) [Ni(CN)4J
2- (ii) [NiC/4]2-

(iii) [Ni(C0)4] (iv) [Ni(NH3) 6]2+ (acwom: 1) 

(b) [Ni(CN)4]2- m~ CWJm><n <;?domoro (square planar) ne..1smcru60 (U)CD>OfZIO(f)~mg1cfu~ 

cru J rs oru fZI 6 6l1s ~ 

(i) ruo8.Jo8cru~ (]611.J06l1s~ @1cruo1cru66)s m1os1rru.oomCTmr>1m8 [Ni(CN)4]2- 2)2'!> 

cru J rsoru 6ID3c.iB cfu06m1 c06>6 cm@~ nq)cm) 66) cfu06l1s 06m~ n© cm~ ru1 (R) Bl cfua>1 c06>6 cfu. 

(acwommr: 2) 

(ii) rll2cfu~1m8 6)cfu0S2CTmr>1§2~ (]cfu0o6)~1m8 8..11(1)01~ nfil@06)6mcm~ cfu6l1s2 

n.J1S1c06>2cfu. (acwom: 1) 

I O. (f) @1 cfu n.Ja>1 (f)6m mm51 m8 ffilo6)6)a>m8 / ®0 m86) 6)c06> m8 0..006)6) 8..1 (U)6cfu~1 m8 m 1ht1 a;cruon..018..11 cfu~ 

cru611.J~~1g1i<r1:1® msc06>6cm@~ SN1 ffilo6)~83,1m8 SN2 6)fllc06>om1cruCTmr>18.Jl6)Sm>06m~ 

7016 

(a) g2B0n.006ll) cruo..o1@o SN2 6)(l)c06)0ffi1cruo ru1(R)Blcfua>1c06>2cfu. (acwommr: 2) 

(b) 2-a;(.611.JO(]fZIO 6)n.J6)1m>~o8-6)m cu3l6)6)n.O(](.(U)On.0oa;8.Joma;m<r1:1m~ ru1a;wcrurlloc06>1m>om8 

6)n.Jqf 2-g)2'!>® (Pent-2-ene) cfu6s 6@m8 ®o~ru18..160 6)n.Jqf-l-g)2'!>® (Pent-1-ene) 

cfu20(lJ~ ®o~ru18..120 8..1@1c06>2cm@~ nq)m5)26)cfu06l1s~ ? (acwommr: 2) 

9 P.T.O. 



11. (a) Identify the product 

HCHO 
CH3MgX 

H2O 

(i) CH3OH 

(ii) CH3CH2OH 

(iii) CH-CH-CH 
3 I 3 

OH 

(iv) CH -CH-CH -CH 
3 I 2 3 

OH 

(b) Complete the following : 

OH 

(i) 6 Cone. HN03 

6~ OHi NaOH, CHC/3 
(ii) .. , 

H+ 

(Score: 1) 

(Scores: 3) 

12. (a) Which among the following reduces Tollen's reagent? 

(i) Methanal 

7016 

(ii) Propanone 

(iii) Benzophenone 

(iv) Acetophenone (Score: 1) 

(b) Since both aldehydes and ketones possess carbonyl functional group, they 

undergo similar chemical reactions. 

(i) Explain the structure of carbonyl group. 

(ii) Explain Aldol condensation with an example. 

OR 

10 

(Scores : 2) 

(Scores : 2) 



CH3MgX 
HCHO ---~ 

-----

H2O 

(i) CH3OH 

(ii) CH3CH2OH 

(iii) CH - CH- CH 
3 I 3 

OH 

(iv) CH-CH-CH -CH 
3 I 2 3 

OH 

(i) 
6-C_o_n_c_. HN_0-------+3 

(ii) 6 NaOH, CHC/3 

H+ 

(acwom: 1) 

12. (a) @06)W 6)cfuos6CTmr>101c006cmrum5lm8 a;so~o8m/ o1n©mc@6)m m1a;0o~ic0,01c006cm@~ 

nfil@~? 
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(i) 6)(2}L.0ffiOci8 

(iii) 6)6llJ®a;cruon..0ia;mo6l'W (iv) m1ocrua;gon..0ia;mo6l'W (acwom: 1) 

(b) ®Q)m8CW16)6)o_O(U)6cfu~18..160 dla;go6ll)6cfu~18..16o cfu0(n6)6llJ06)6)6ll)m8 n..0o(f)~6ll)m8 

(.(f)l7d~ mloS6ID31m>101c006cm@1mom8 CTm)(lJ 63G;(t)(O)(t)o 00CTU(.n.J(lJ(nCTmr)ffi6ID3ci8cOO~ 

ru1 mDm> 00 c0, 6cm6. 

(i) cfu0©6)6llJ06)6)6lnm8 (.(f)l7d16)1 ne.Jsm ru1Clc)Blc0,01c006c0,. 

(ii) ®0 ro a;cwocm cfu6l1s® G;(n)rfrj o8 630 6 g2B00..00 6ll) cruo..o1@o ru1 (/() Bl c:0,01 c006 cfu. 

(acwommr: 2) 

11 P.T.O. 



(a) Which among the following does not give red precipitate with Fehling's solution? 

(i) Ethanal 

(ii) Propanal 

(iii) Butanal 

(iv) Benzaldehyde 

(b) How will you bring about the following conversions ? 

(i) Toluene into Benzaldehyde 

(ii) Benzoic Acid to Benzamide 

( c) Explain Cannizaro reaction with an example. 

(Score: 1) 

(Scores : 2) 

(Scores : 2) 

13. (a) The most basic compound among the following is 

(i) C2H5NH2 

(ii) C6H5NH2 

(iii) NH3 

(iv) (C2H5)2NH (Score: 1) 

(b) Compound A is treated with Ethanolic NaCN to give the compound C2H5CN(B). 

Compound Bon reduction gives compound C. Identify compounds A and C. 

(Scores : 2) 

14. (a) a-D-(+) glucose and ~-D-(+) glucose are 

(i) Metameres 

(ii) Anomers 

(iii) Geometrical Isomers 

(iv) Functional group isomers (Score: 1) 

(b) What is denaturation of proteins ? (Score: 1) 

(c) Differentiate between nucleoside and nucleotide. (Score: 1) 
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13. 

(a) @06)\!l 6)cfuOS6CTmr>101c006cmrum5lm8 n43@06m~ 6)n..Oo..0~1o(f)~ 8.Jom>m1m>6rllom>1 !l..l6rucm 

mlo (lJ cfu911 ~ o (0)0 OCTmr> (O) ~? 

(i) n«)L.Omocm (ii) 6)(.nJ07;:jffiOcm 

(b) (0)06)\!l 6) cfu0S6 CTmr>101 c006 cm (l) og6ID3 cm ml 6ID3 cm n© 6ID36) m cruoiw 1 rll0c006o ? 

(i) 6)So~6ru1m1m8 m1cm6o 6)611.J®cruom8cw16)6)o..OCW~ 

(acwom: 1) 

( c) c0,om19rtsocmo 0ocru(.nJru<nCTmr>mo 6306 g2BOo..006m cruo..01@0 ru1Clc)Blc0,01c006c0,. 

(acwommr: 2) 

(a) @06)W 6)cfuos6CTmr>101c006cmrum5lm8 n43gru60 cful56(0)m8 6)611.JCTUlcfu (f)66ll)o cfu06m1-

c006cm@~ nfil@~? 

(i) C2HsNH2 (ii) C6H5NH2 

(iii) NH3 (iv) (C2H5)2NH (acwom: 1) 

(b) A n«)cm cruom>6c0®0 n«)L.Oa;mo~1c0,~NaCN-0om51 (.nJruroCTmr>l~rc2H5CN(B) n«)cm 

cruom>6c0®0 @06cm6. B n«)cm cruom>6c0®0 m1a;0o~c0,06morlll8..lo C n«)cm 

cruom>6c0®o (0)06cm6. A, C ng)cml cruom>6c0®6ITT3cm n43ru6)m>cm~ cfu6l1s6nJ1S1c006cfu. 

(acwommr: 2) 

14. (a) a-D-(+) glucose, ~-D-(+) glucoseng)cm1rum>o6m~ 

(i) 6)(l)g(](l)(n(n)~ 

(ii) ®Q)(]ffi0(](l)(n(n)~ 

(iii) a;mprll(.S1cOOm8 6)ng)(](n)0(]fZI\Jl~CTU~ 

(iv) n..0o(f)~6mm8 (.(f)l7;:J~ 6)ng)(](n)0(]fZI\Jl~CTU~ 

(c) m1i~1(]CD>06)6)(n)(U)6o m1i~1(]CD>06)6)5(U)6o (O)filll18..16~ ru1@p(n)6)(l)m5)06ll)~? 

(acwom: 1) 
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15. (a) Distinguish between thermoplastic polymers and thermosetting polymers. (Score: 1) 

16. 

7016 

(b) Name the monomers in the following two polymers. 

(i) Nylon 6, 6 

(ii) Buna-N 

Match the following: 

Column A Column B 

(i) Equanil (a) Antacid 

(ii) Morphine (b) Antiseptic 

(iii) Tetracycline (c) Disinfectant 

(iv) Bithionol (d) Antibiotic 

(v) 1 % phenol solution (e) Tranquilizer 

(vi) Rani ti dine (f) Analgesic 

14 

(Scores : 2) 

(Scores: 3) 



16. 

7016 

(acwom: 1) 

(b) (0)06)\!l 6)cfu0S6CTmr>1©1c06>6cm 06l1s6 (]n.J0~1 rll06cfu~16)8.J(D)6o (](2}0(]6ll)0(2}06cfu~66)S 

(]n.J 6) row 6 (0) 6 c0,. 

(i) 6)6)ffi(]8.J06l'W 6, 6 

(ii) 6llJl6m - n©® 

(]!l..l06on.JS1 (]!l..lffic06>6cfu : 

OcfuO~o A O<fuO~o B 

(i) g)2cfuJOm1m8 (a) CTno 10 cru1 cw~ 

(ii) a; rll om n..01 o8 (b) ®0 (@6) (n)n.J~g1 cfu~ 

(iii) 6)S(.S06)6)CTU~1o8 (c) cw1 CTU~g)2®6) n..O,t~ 

(iv) 6) 6) 6llJ (0) CD)(] m ocm (d) CBlQ) c@6TIJ (](!2)0§1 cfu~ 

(v) I% n..0ia;moci8 8.Jom>m1 (e) (.SO®cfuJ16)6)8.JCTU© 

(vi) oom1s1cw1o8 (f) CTno mo m86) mcru1 c:0,~ (acwommr: 3) 

15 P.T.O. 



SECOND YEAR HIGHER SECONDARY EXAMINATION, JUNE 2017 
(Finalised Scheme of Valuation) 

Subject: Part Ill Chemistry Code No: 7016 

Qn.No Scoring Indicators 

.1 raJ 
... 

~au A.J~~ I II O'Y 

(bJ D bGc.., -- 2- (_ g X 1/g -t I =- i) 
f C.L - 4 C s- x Vs- + " .xv2 == 4) 

I ii) 
~~t. ~a,,n:,fl,. ~ uva.-fw s~ 

2 (tt ii err o·5 

( h) (i. A - V• p ~e , .St>lve.-vl / S o/v wt'C ~ 

s - V· p u.,J...\le.. °1 Soli..J~ / so/tA.--..J~ 
~ ~L A err s) 

{ii) J)e~·Y.J~I-U'O "-fJ B ·P e>Y v. PttfJ .£.o/e,u/~ ~ 

f tM //:56-r,, So/ve,.,,,,i OY .p~~ ~ ~ 
vd(A..-f.J.«.. ScM CfY dte,.yLML ~ v- p cn­

elLVtJ--ir,, 1 A . p. 

.., 

Split 
Score 

f 

I 

I 
l 
I 
I 

2 

2. 

2- . 

Total 
Score 

4 

4. 

4. 
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SECOND YEAR HIGHF.R SECONDARY RXAMINA TION, ,JlJNI<: 2017 

-------.----,---- -------
Qn. No Sub Qns Answer Ke v / Va_l_uc p(~i~ts 

4 

5 

l,. 

7. 

V Ill) 

(Ci) 

CbJ 

j.2,d/ 
K., ::. A L ,RT OY 

J-. J<., =- lot!. A - ~a. 
-?r o ~-lD3R. T 

n~AM.,l,tMVY.) ~ £a. ~ N" 
S~~~ ~A 

~ !<1. - £4 [7j -T, J -(!) 
k.., - ;J. 3 o.3 R., -,, 72. 

- (J). 

iii tJY fV1A.J~h4fi 

£Xf~d~ i fMlh 1}odt:vi-~ 

Su.JrW-c CIYL - CD 

ti) IV 0"1 1-12. Te 

b)(,J P • 2so.2.. + b.2.. ~ :2 so3 -a> 
Q. ~ .5~ + H,2_so4 .. > 1.Sz..~ -(1) 

OY 
Ui. S~ b:,. + H_i. D ~ 2. H2-~ o 4• --{J) 

Score 

I 

2 

I 

2. 

2 

(ti) ~-tt;! °1- U:--' S,0 ~ CM~ 2.. 
on,,.e,, IL-'~~P C ~ t,-7" "?tf1&-o~ 

/ iii) (J)u,.Jl. ~ °-1, H.L ~ 04- . 2-. 

- 2-

Total 

3 

3 



SECOND YEAR HIGHRR SECONDARY EXAMINATION, ,JlJN~: 2017 

- -

Qn.No Sub Ons Answer Ke v I_ y l!_luc po~nts Score Total 
. 

Sh J!3 I {a) IV (1Y 

ijli) O,u,, ~tyT.) fr, ¥ -Vl A~ I-/ 2. 
V,,J,,,..L-~ 0 p- _D-'-'fr "'i, ~ II . --0) . 5 

(it) 2 ct 
# II ~ 0 

0 0 

litij :;::~,._ alt. r~ ~,,.,_ ,, 
2-

fJln e ~ I t.,J,., ~crv.' Ce, r0 ;c ~ · 
{_ IA.A?g dklL /.,,trw., a,' A,rtJ/ A+7J ~o 

;~ lb) 

g t-t. l-wv.,//;;.;a-i,~ u::,J?1MJ1.-urr, ' 
h f = Jncn+2...) 2. 

C .3f • u,;/ -Sc. - V\.O Lv'fA-'-'-~ e --{'j) 
4 Ti .a+- - tlt.t ~uA e --CV) 

c:. d -d + ~,.: f -<m t7Y urY?l".u- I- 2 

~~A.#n 

q a) iii DY ~(UJ)4J I 

(bJ [I) d.sp'- ½f'o~~~ er,' JJ O ""f'""' 2--a, 5. Lt 
{ ii',) - ~~d.J_~ {.,,,A/ 0-Y I 

-

-3-



SECOND YEAR HIGHER SECONDARY EXAMINATION, .JUNE 2017 

-- -.,--------.------ --- - . 

Answer Ke v I Va_l~~~ts Score On.No 

10, 

"· 

Sub Qns - -

{aJ f.-q,'4,,,,td-1.L!m ~ ~td-~ 81J SAJ:J 

~.f~ d.J ~ &o ~~·. 2-
gJiu 61; £AJ:,. ~/~ 

2... ch; 8.fv.it..~ , s~tis~ ~ 
{pc.gtlrM> pu,l,_ ~ trw.,b-Y ~ 

.. 
(a.) l) OY c.~ c.11.z. 0 H I 

lb) ·, Pkc.kt-~ ()Y ,J ( t.,, b--1-M-~">'t'J~ I Yi. 
C)Y #JA,~{A.-

;; SA-L'cf Mk7Jde. t1Y ol-r~ l'l 
but ~I~ tW -fj~ec., 

;,, 
~ J/5 - fJ1-I -r ~ T lli 
p~ ~r.Lc Mc.-lktvu, 

(_ ~ l:ib,, ;M'W) h) 
12 · {a,) i trr /VI e.lh~,.J t 

2 c ~ ti 1 ~-zrl~AA~ t7Y .slAM-L-ll,M,,L t2f, 

;LD ~-
(it) 12arew,tvf-uro C7Y" ~,14>? "1, 

A-fkl l,en,t..J e..,i.J MA.#YJ 
2 

Total 

4 

!5 



(ii) 

(c) 2 

1.3 (t:L) i V t!rr LC;_ H0)
2 

NH· I 

2-

2-

/4, 

15 

b) A • C2.l-l5-X [~ ~V 3 

C.. • c;_ H5 lfli N J.f;_ ( f ~~.,f-~) 

A) Ou.cltU~ &(.~ ~u.1) 
l~mopwfiu ~ ~,v.,t7Se1t1 pwliu 1 

(bJ i) ~ l,,h -> ~ ~ + Hv.>e,a.+,-:,~/r- 2- 3 
d..t' A-w:>wt!-. 

ii) BIA-i:>A- -Ai • !., ~ - J,tA.}-A..d.t',e..,,.L + ¥.u-'l,,,' L!_ 2 

Vm ~ {9f?L- +rth'!> b) 

i; 1z~l - (e) TAArJ~I"'~ 

~i, Mt#..pl, .. t" l,U_ - C .f J 4' Al ae,& AAA , ,r 3 

tti~ 7t,,1,_~71c.lM1£ - rd J A, h'b,i.a /,-u_, 
i \} I B,,i //ci,or., M - ( h) /Jr.,ft' 5~~ C 3 3 
V, I Y, f~ Co/wh:tm -(CJ dAA ~r-~+ 
Vi_, ~·,I~~ - (A) A,~ · 

{ &g '3 ~Ya,./- =,:,.:/-c,hu) 
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